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10,000 KBS
20| R/ SR | | RER | B | A
1 SU— 100 86770 2 300
2 Bep&kwl 95 9130 1 240
3 mu fc 90 7440 10 300
4 NS 85 8220 3 260
4 SR 85 /890 6 140
4 TV 85 8020 = 260
4 WE AT 85 7680 8 300
8 FEWFTES[ 80 6600 18
8 MS N 80 6770 16 60
8 77 80 6550 20 140
8 - E 80 6420 21 300
8 a1—7 80 5950 30 260
13 TS 75 7820 J 260
13 (5% 75 7370 13 240
13 G D1 75 7450 9 300
13 15479 75 6600 18 140
13 har3 75 6340 25 100
13 CH-R 75 6030 29
19 ED S 70 7390 12 260
19 &, 70 6890 15 120
19 7ur4 v 70 5650 34 300
22 N2 e 65 8020 4 300
22 T v 8 =%k 65 6150 26 300
22 = 65 6090 28
22 YA T Ao 65 6830 31 240
22 S A4 65 5110 37 60
27 = [ N 60 7440 10 240
27 I— 60 6770 16 260
2'7 [ 60 6420 21 200
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0| RX—=L\ 5 RiER | BT | A
27 H\ 60 6400 24 300
27 OHA 60 5560 35 60
27 k en 60 4890 39 280
33 7= < 55 6970 14 240
33 k an 55 6150 26 280
33 Y. D 55 5780 32 220
33 w9 55 3920 42 120
37 CR Y 40 6420 21
37 SR OISR 40 5730 33 160
37 Ny XYy 40 5360 36 280
40 MW H 35 4920 38 200
40 v— < 35 4490 40 240
42 % H 30 3310 43 160
43 Taizh| 25 1940 46
44 L 20 3980 41

[ 1 2 3 4 5 6 7 8 9 10
Ny 5/1/3 4/ 1/ 5 1]1] 3
F AR 91%| 52% | 45% | 84% | 50% | 68% | 91% | 45% | 52% | 75%
R 200 1| 5]130| 1 /20/23| 3
R 2 5115 3| 5| 2 21 6|6
R 3 219,337 5,31 2| 3|33
AR 4 40| 7 | 4 22181 21121 4 1

i 231 21 31 71140 8 | 8

B 11 12 13 14 15 16 17 18 19 20
IF 2 bl 112121445135
IF BE R 50%| 55%|66% 93%  73% 84%| 41%| 50%| 84%| 48%
i 312129/ 112|115 7
R 2 221141 5 14132 1 713]6
Rx 3 11/ 11415556371
RR 4 7133 313718 43| 9
i 1 124 3] 1] 2 201221 1 |21
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